                Classical Conditioning and Drug Tolerance

Drug tolerance:  repeated administration of a drug leads to a decrease in its effectiveness;  the user needs more and more of the drug to get the same effect.
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The CRs are the opposite of the URs.  They compensate for the URs to

keep the internal environment of the body constant (“homeostasis”).

To test for the CR, present a placebo.  Inject neutral saline solution instead of morphine. 

Context CS:  the room, the time of day, the time since the last injection

                      can act as the CS.
